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@ 25° @ 30° @35°
@ 40° ® 45°

A2 o] izte] 2719 92 180° o2&
Lx+3/x+2/x-30°=180°
S /x=35°
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@® 100° @ 120° ® 130° @ 140° ) 160°

Lx + Ly = 360° — (90° + 110°) = 160°
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D)120° @ 130° ® 140° @ 150° ® 160°

o] o]zte] 7719 3k 360° 0| B2
/x=360°—-30°—-70°-80°-60°=120°
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@® 140°, 30° @ 142°, 36°

® 142°, 30°
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, = 36°
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@® 120° @)125° ® 130° @ 135°

® 140°

AABC °f|A 2/IBC + 2/ICB + 70° = 180°
. /IBC + /ICB = 55°
ABIC oA zx = 180° - (/IBC + /ICB) = 125°
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40°

® 1000 @120 @150 @ 160° O 165°

2/ABC = /DAC, /DCE = 3/ABC
/x = 3 x40° = 120°
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O 70° @ 72° @73° @ 74° ® 75°

AECE & 9431 27219 ABCEF 2] Wzhe] g2 180°x (5
2) = 540°

540° = 105° + 120° + 36° + /DCE + /DEC + 62° + 110°
/DCE + /DEC = 107°
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/x = 180° — 107° = 73° o]t}
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D 120° @ 130° ®)135° @ 150° ® 180°

20° 4 25° = /d + Le O| P2

La+ b+ Lc+20°+ 25° = 180° = A2
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@© 75° 2)80° ® 85° @ 90°

® 95°

/ABD = 180° — 130° = 50°
1
(BAD = 5(180" - 120°) = 30°
o /x = /ABD + /BAD = 50° + 30° = 80°
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(o]

6x+13
102+10°

@ 10° @ 11° @12° @ 13°

® 14°

6x + 13° = 2x + 11° + 180° — (10x + 10°)
= 181° - 8x
SoLx =12°
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30°

55 50°

@® 115° @ 125° @135° @ 145° ® 155°
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78°
141°
120°

D)s1° @ 71° @ 61° @ 51° ® 41°

AFZFE o] Ujzho] §-2 360° o] L& 141°478°+x+(180°-120°) =
360° o]t}
kA x = 81° o]t}
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130°

D 110° @ 180° @220° @ 240°

® 300°

x%] &J7} .
360° = x +y + z + 50° + 90°
Xyt z=220°
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® 81°
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180° x (8 — 2)
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